Item-nr. Description A

0113630 freestall div. COMFORT-NG 193 to 76mm 0113531

0113650 freestall div. COMFORT-NG 208 to 76mm 0113551

0113660 freestall div. COMFORT-NG 218 to 76mm 0113561

S

O
t§§77112090

8212500

Item-nr. Description Number
0413041 |plate for T-clamp 60x76mm, heavy version 2
0413043 |plate for T-clamp 60x76mm, heavy 2
7110050 |hexagon-head bolt M10x50 galv. 6
7112090 |hexagon-head bolt M12x90 galv. 4
7112100 |hexagon-head bolt M12x100 galv. 1
8210500 |self locking nylon nut M10 galv. 6
8212500 |self locking nylon nut M12 galv. 5
7112090| 7112100 A freest.divider COMFORT-NG, frame only 1
8212500| |8212500
Freestall div. COMFORT-NG to 76mm
Number: 01136x0-0
spinder ..
DAIRY HOUSING CONCEPTS Date: 14-4-2020
g O O O O i com m Garived fram s drawig, e Por or used othenise




Item-nr. |Description A B

0113635 |freestall div. COMFORT-NG 193/193 - 76mm | 0113531 0113531
0113645 |freestall div COMFORT-NG 193/208 - 76mm 0113531 0113551
0113655 |freestall div. COMFORT-NG 208/208 - 76mm | 0113551 0113551
0113665 |freestall div COMFORT-NG 218/218 - 76mm 0113561 0113561
0113675 |freestall div COMFORT-NG 228/228 - 76mm 0113571 0113571

7112090
8212500

Item-nr. |Description Number
0413046 |plate for four way-clamp 60x76x60mm F.P. 2
0413048 |plate for Four-way clamp 60x76x60mm, 2
7110050 |hexagon-head bolt M10x50 galv. 8
) 7112090 |hexagon-head bolt M12x90 galv. 4
o G 0413048 7112100 |hexagon-head bolt M12x100 galv. 1
o 20® 8210500 |self locking nylon nut M10 galv. 8
: 2 8212500 |self locking nylon nut M12 galv. 5
=p A freest.divider COMFORT-NG, frame only 1
/112090 7112100 B freest.divider COMFORT-NG, frame only 1
8212500 8212500
freestall div COMFORT-NG - 76mm
Number: 01136x5-0
spinder ..
DAIRY HOUSING CONCEPTS Date: 15-4-2020
g e O O o i com e Garived fram s drawig, e Pory or used othenise




